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l 217 I
�- This question booklet is divided into 

two sections - Section-A · and 
Section-B. 

6_ grrg-3T it 1 oo ct«JR&3 � t,

f-;iRiiirfct>�l so�cf;T3TR"� 

31f.ta14 °t I 50 -w-if � � cfiT 

Jm' # rrr � so cfiT 67" l-Jf4icn-=t • 

i,r,rt Jlr4ch $� 1*'1;��,

� 3r17 # if;- � 34Hd¾ ch-<14 

TT({ OMR �-fffcf> "If � 7Tf[ 00

fc,q;c--4 q;r_ ;fh-.j- I m � 1F1" #

wm; ct,ZJ MW ,ft JJc#,U cl; 
f.i1$Z➔�/ rf7M � / � / ➔llil..➔ 
� 'cfiT OMR 3"7- q31c1, 11 µ4),7

cl,�➔/ 1FfT t, aFl1W vftw qf"?o11q

31111r<I �, 

6. In Section-A, there are 

100 objective type questions, out 

of which any 50 questions are to

be answered. If more than 
50 questions are answered, then 
only first 50 will be evaluated. Each 
question carries 1 mark. For 
answering these darken the circle 
with blue / black ball pen 
against the correct option on O.MR

Answer Sheet provided to you. Do 
not use whitener I liquid / 
blade/ nail etc. on OMR Answer 

Sheet, otherwise the result will

be treated invalid. 

7. &O:S - � J1' 30 M'El 3iH14 f1R" f I 7. In Section · B, there are 30 short.... 
ur0ct> cf)' TMQ' 2 *'1; � � A-111· 

# R,,../1. 1s u�➔r qif '3n( cr:n­

-:,1Ac114 t I � -31/rlRffi w &Us 

q 8 � 3itl14 J:11":r firq- 7Tlf t,

ur4ct> 'c1)' � s 3icf; � t, f:rt➔if 

# P,;.efl" 4 r,Rf 'cfiT "3"7 � . 

�f.ta1ti t,

answer type questions, each
carrying 2 ma.rks, out of which
any 15 questions are to be

answered. Apart from these, there
are 8 long answer type 
questions, each carrying 5 marks,

out of which a.ny 4 questions are

to be answered. 

8. fct,m J.1$1< � $H�iRct> 3Qct><O/ cfiT 8. Use of any electronic appliances is

� 9:ofa41 c/Mrl t / strictly prohibited. 

0 
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I 211 I

� - 3T / SECTION - A 

a«:1f..:ito m;:r / Objective Type Questions 

fTR' fil.a.JI l "ff 100 ncn � rlR � m-er wrr fflcfir-4 � Tf({ t· Rr,..,if � "(!cl> � 

ti fil;.efl 50� � rrrr·.m- WT� Tf({ yft rnctir-4 q;r 0MR me rrr fufi.➔rl 

cfi7'/ 50 X 1 = 50 

Question Nos. 1 to 1 00 have four options, out of which only one is correct.

Answer any 50 questions. You have to mark your selected option on the 

OMR-Sheet. 50 x 1 = 50 

1. � �qoft ........... � � � W$ � i, 

2. 

(A) Pf��l<:h (B) c6'-4.fl
{C) �Hcf,f< (D) �-a��

Stock exchange protects the interest of 

(A) Investor (B) · Company
(C) Government (D) None of these
� �lld-i cfil Pfll�OI .c:fi8T � i 

(A) 3lm�

(B) ��

{C) 3lm,����� 

(D) �-a�·

Cpntrolling function· of an organisation is 

(A) Forward looking

(B) Backward looking

� Forward as well as backward looking 

(D) All of these

3. � cf@t. � 3t<il� 'tR dcif�'I Jif.fql4 t

(A) ��� (B) ��

(C) "fl zy'1 � (D) � � � �
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6. 

7. 

El 
Lab 11· · k d onsumcr products fore 1ng Is compulsory on pac e c 

(A) A few (BJ All 

(C) Both of these (D) None of these 

4. >lmcft {i��UI � � 3TTtj�ll� �

5. 

(B) 
(A)

(D) 
(C) f.H.fl<<'IT

. rnunication ............. is necessary.
Por effecuve com 

(A) Clarity (B) Courtesy

(C) Continuity 'f&r All of these 

t?J..)1q0/ � tj)�l{ 

(A) m"<1 (B) cf>@-1

(C) � (D) ���;r"tf

Communication should be 

(A) Simple (B) Difficult

(C) Proper (D) None of these

� -q �-m Rnfl4 sih-{ilt;4 � ?

(A) q��ra (B) <t:fa4, :sih-81�➔

(C) � WlITT 
. 

(D) cf> xfi:11 tl \:I I' ft� I{)

Which of the following is a financial incentive ? 

(B) Stock incentive� Promotion 

(C) Job security

f.l4:401 � �

(D) Employee participation

(A) �

(C) �

I 24 / A/XII-SO 11-(32/40" Page 4 / 32 
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El 
Control activity is 

'fAr Costly (B) Cheap
(C} Uneconomic (D) None of these

8. f4zj�o1 cf>T � � �

(A) � (8) fcl'clfH

(C) �tm: (D) ����
Main objective of control is
(A) . Variation (B) Deviation

� Rectification (D) None of these . 
9. f4qR-tfuia if� �-m �-B<-.:Ht cit f.fmfuf � cfTffi � � ?

(A) � � � (B) � 3ilcl(O( .-3-ijqld
(C) � �li:f(Of �jqla (D) � � wfi 

I 211 l 

Which of the following is a determin�nt of capital structure? 
(A) Cash flow statement

(8) Interest coverage ratio

(C) Debt payment coverage ratio

(0) All of these

1 o. � d4,, {-fl-1 ffi -q fl fUl fFta � � 

(A) BJ.id! � · (8) 

(C) �3ffl
. . 

.............. is/are not included in long-term finance. 

(A) Equity shares �··Dividend 

(C) Preference share (D) Long-term loan

11.. ��1f4q; � -ij � � wwr � 

(A) · 7Tftr 3i'24lH

(B) � 3i'244"1 � � �'244-i

(C) 

(D) 

7Tftr 3i'24ll-i, � 3i�4-i � � � 

�-a�� 
j 24/A/XII-5011-(32/40) I Page 5 / 32 

Previous Pathshala



12. 

13. 

\ 217 \ ··.

. ffic management were

T l under sc1en i 

The experiments done by ay or _ 

(A) Motion study

(B) Fatigue study and time study

�otion study, fatigue study and time study

(D) None of these

��j{;\<.h � it � cf>1

(A) �mort

(C) �>lmct�

{B) ��t

(D) . � � � -;r@

By scientific management workers are

� Benefitted (B) Suffered loss

{C) Not effected (D) None of these

� q;�1cl it 

��1{;\c:fi �� 
{A) (B) 

(C) �<§Ji4icl (D) 3€<\ii;-1 �

Henry Fayol was a / an

{A) Scientist (B) Mining Engineer

(C) Accountant (D) Production Engineer

14. �� {B.a,,� �

(A) i1fa:tftcl • 

(C} � 

P.rinciples of management are 

(A) Dynamic

{C) Universal 

1.5. ��lf.lcfi � it Pcl�cll:IOI � 

(Al 25% 

(C) 50%

(B) ffi-q:tftct

(D) ���

{B) Flexible . 

✓ All of these

(B) 30%

(D) 75%

·, 

:t• 

r:
\
"i 

� ! 

I 

• 
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Analysis in scientific management is 

(A) 25%

(C) 50%

16. \ffio "q 3�1{\q;(OI cfa -;ftfu � �

(A) flqifl

(C) �: Ji(-iChf\ 

(B) 30%

'-ftJl 75% 

(8) �(,i(hfl

(D) � � � �

Liberalisation policy in India has been

(A) Successful (B) Unsuccessful

(C) Totally failure (D) None of these

17. M -q � �-� �tcH11f4q; cf ldlcf(uI � �:n,n11 � -� ?

(A) �f.i�ddl

(C) mqaJol

(B) q;q=q 1tl

(D) • \Jlf2.c1e1i

I 211 I 

Which of the following 1s not the characteristic of business 
environment ? 

(A) Uncertainty

(C) Relativity

'{B.}----"Em ployees 

{D) Complexity 

18. � 3fedt 41\Jl-11 � i

19. 

(A)

(C)

A good plan is

(A) Expensive

✓ Flexible

(B) 

(D) 

{B) Time consuming 

{D) Rigid 

�� ............. �����-iflffit I

(A) � (B) �
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20. 

A bLtdgct is pre pured for n ........... period.
(A) Long

(C) Definite

(B) Short

1"¥J � � � lr,R' >fest.-� � � ffl sq � \lJTm t ?

� All of these 

(A) 

{C) 
(B) f:t��H

(D) f:t4l:it➔
'Thinking before doing anything' - under which function or:maz:iagemen t is this performed ?
(A) �ontrolling
(C) Organising

(B) Directing

21. � mm i ·
�Planning 

(A) ilra (B) ¼lift
(C) � (D) �"Q��
The manager is 
(A) Boss (B) Owner

�Leader (D) None of these
22. � ei.5tqo1 -ij � �

23. 

(A) mtfT

Barriers in effective communication are 
(A) Language (B) Di.stance.
(C) Individual differences (D)
M -ij �-m. ���H cf;T.cfcq mi?

(A) � (B) 

(C) . (D). 

All of these

ffi� 
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EJ 
Which one of the following is not an clement' of direction ?

(A) Motivation (B) Communication

� Delegation (D) Supervision

24. fi��UI � � -g

(A) R-if©ct (B} iflf©cti 

(C) �q=q1Qcfi (D} � � � 

Types of communication are 

(A} Written (8) Verbal

(C) Formal � All of these

25. �43401 � q;r .......... � ii

(A) �-&lktcf> (B} c4lq�i0:cf> 

(C) J4H�cf> (D) \flfacfi

Controlling is the ............. aspect of management. 

(A) Theoretical (B) Practical 

(C) Mental (D) Physical

26. ftffl � � � mo i

(A) :ifi014::f (B) l-i4ctl � �

(C) �� (D) ��

The cheapest source of finance is 

(A) Debenture (B) Equity share capital

(C) Preference share � Retained earning 

27. (-tg-m � cf@l cf>�..fl � � � q;r sJra, ... � i

(A) �f.€3ct> (B) 3ff4ql4

I 211 I 

.. 
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El • a mcnt of dividend is
For a joint sLock company• P Y 

(A) Voluntary

(C) N cccssary

(B) Compulsory

(D) None of these

28. P4li�01 � t

30. 

31. 

(A) qf\0114 -a

(C) w:im�

Control is related to 

(A) Results

(C) Efforts

(A) �-fcc-e3<!. �:l��UI

(C) �

(B) Functions

(D) None of these

(B) -ii:fi� � fcte1(0I

(D) ���

Which of the following is not a controlling technique?

(A) Break-even analysis · ,�cash flow statement

(C) Budget (D) Managerial audit

f;i4;4UI fc'.f;�� � � ? 

(A) � ">"�q (01141 (B) oqfth41 "6

(C) �311- "6 (D) �� . . 

Controlling is related to

(A) Results (B) Individuals

(C) Goods (D) Managers

� � "6 � � � 

(A) � "6 (B) m"6

(C) � en( (D) �"6��

Page 10 / 32\ 24 / A/Xll-50 l l-1a2140
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The leader takes work from his subordinates

y(1\) By tact 

{C) By threatening 

32. fclq;1t1 cfa q�Rllfl �

(A) ffl ��(11 �

(C) ffl � �c:f,ltl

Methods of development arc 

(A) Job rotation method

(8) By rod

(D) None of these

(B) ��q;1c-ft-4 41diHf;q

(D) �-a�

(8) Short-term syllabus

{C) Development on the job ✓ All of these

33. ffil�"qG@��i

(A) �-'l�cf> � -q-{ . (8) t1e4f,fto1 � -q-{

(C) ti lX-11..ll � -q-{ {D) &q I i:4 � I f{c:t, � -q-{

Training gives emphasis on 

(A) Theoretical knowledge (8) All-round knowledge 

{C) General knowledge (D) Practical knowledge

34. e,1a-1 � � -ij � � t

(A) �Gf'R {B) �-am: 

(C) cn'ft-cPft (D) �(.:.a(

Recruitment in the life of organisation is 

(A) Once (B) Twice

(C) Occasionally (D) Continuous

(A) �Mid(OI (8) q<),;1{<l

(C) 0-ii'II< cf>l4ict4 (D) tcn Pc.�1<

I 211 l 
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El 

36. 

f r,•cruitmcn1 ?
. ,rec o � 

, ·xtcrr1c.tl soL 
Which of the following 1� .in <.: 

(A} Transfer 

Employment exchange
(C) 

�t 

lA) 
�

(C) (J\) � (B) �

Management is

(A) Art

(B) Promotion

. c extension
(D) Scrv1c 

(Bl 

(D) 

(B) Science

� Both (A) and (B} (D) Profession

37. �� -R.�41 ch1"� "Sfm� t?

38. 

(A) ��i�'MI il (8) 

(C) ��i�dl � "Sl'ilc{'fl�dl it (D) 

'5MJq'{?�al �

����

How does a manager achieve his objectives ? 

(A) Through efficiency

(B) Through effectiveness.

� Through efficiency and effectiveness 

(D) None of these

eq�� � � � t 

(A) ��� (B) 

(C) � � ctil4-ctl"-� � � (D)

Co-ordination is established

(A) Between groups

(B) Between departments

(C) �etween management and workers

't0( All of these

I 211 l 
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[l 
39. 

40. 

�ll t � � m t

(A) 4

(C) 2 

(B) 3

(D) l
Ho\v many levels of management are there ?

(A) 4
� 3 

(C) 2 (0) l

��lf4cfi��film� 

(A) fr1z:;,�� (B) tffi

(C) {i�l�Ff (D) fcfi�IM

The father of scientific management is 

(A) Gilbreth �Taylor 

(C) Robertson

(A) fct�H, � fcll � f.tWl

(C) ff �'4111, � fcll oqRfi<:Hi; 

(0) Kimbal

(8) cfilltt("qq; lh1<�-1�1q

(0) �, ;J fcl; �

I 211 I 

Which of the following is not a principle of management given by

Taylor?

(A) Science, not rule of thumb

� Functional foremanship 

(C) Cooperation, not individualism

(D) Harmony, not discord

42. q{ut{lllct � -q � cl,1 � � � �

(A) � (8) �

(C) � (0) ����

I 24/A/XII-5011-(3:2/401 I Page 13 / 32 
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El 
Wages given to workers in traditional management arc 

W Low 

(C) Maximum

43. ��lf.lcfi � -q 3�1<!,..f i@T �

(A) �

(C) �ILil--4

(8) High

(D) None of these

(B) .:tt-10'-I

(D) ����
Production in scientific management is
(A) Maximum

(C) Normal

44. Sl�tl�f.:lcfi � � Si½dcfiof -�

(A) Ch�lct

(C) M

(B) Minimum

(D) None of these

The propounder of administrative management was 

(A) Fayol (B) Taylor

{C) Terry (D) None of them

45. � � �-q �-a. $'J1"if.l�< �?

(A) 1878 (B) 1884

(C) 1901 (D) 1903

In which year did Taylor become an engineer from a worker ?

46. 

�1878 

(C) 1901

(A) �";fifa

(C) � �cfilft

(B) 1884

(D) 1903

(B) � 51011ct}

(D) �-a�

j 24/A/XII-501 l-c32/4o,! Page 14 / 32 
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a 
Economic environment of business is influenced by 
(I\} Economic policy (B) Economic system
(C) Economic development (D) All of these

47. � � � t
(A) �641�.:t � f441�a e1�

(B) \.tf&tl4 � cfillfcfict!Y1 ciil WWI

(C) � cfiT � f¾a<or

(D) 3iPrn�a qf\0114 � � � �

Budget refers to 

(A) Planned target of performance

(B) Use of handling future activities

(C) Systematic allocation of resources

I 211 I 

� Statement of expected. results expressed in numerical terms 

48. f4�-ii.:t e,:ft � &m3TI cfiT i https://ww�.bsebstudy.com

(A) 'SITTl-l:f

(C) (A) 3'fr< (B) �

Planning is the ............ of all managerial activities. 

{A) Beginning (B) End

(C) Both (A) and (B) (D) None of these

49. f441-ii-i mm t

(A) �cfilct � �

(C) e4Jiu-1 � �

Planning is for

{A) Past � Future 

{C) Present (D) All of these

I 24/A/XII-5011-(32 · 
Page 15 / 32 
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El 12,11
50. � c:nT \tt(tc:fo1 � � t � cfil ............. \tl(lqo,1 

(A) J�<<lfllfc{ c:nT (8) -iiqfcl�� ef>T
(C) � q;r (D) � � � 3ifttcnl( q;r
Delegation of authority means delegation of .......... •.. ...... to
sub-ordinates. 

(A) Responsibility

(C) Work

5 1. � �41-ii.:t � 3mm: �
(A) �

(C) \t"Pcl�m

(B) Accountability

(D) Work and related authority

(B) �lq�lflcf>dl

(D) �-{)B\fi
Criteria o·r effective planning are 
(A) · Flexibility

(C) Futurity

52. 3-€1<<,fllc-q mm t

(A) � q;r

(C) (A) � (B) �

Responsibility is of

(A) Subordinate

(C) Both (A) and (B)

(8) Practicability

•(D) ·All of these

(B) Officer

(D) None of these

53. � ef>T �«il�(OI � � � f!Sf;df t

(A) � � � (B) _jifq�lfcfi � ef>T

(C) �ffl�
Authority cannot be delegated of

(A) 

(C) 

Routine work 

Ordinary work 

(B) Necessary work

(D) Easy work

I 24 / A/ XII-5011-(32/40) I  
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El 12111 
54. ��cfi(OI � ctl�Ff � �

(A) ��-q-�cn)wf��

(B) � ITT � � cfil fit@(lq <f>GT

(C) '51\WTT cJ;T ·� � cit-lHI

(D) � � � WR9131l cJ;T OOH41

Centralisation refers to
(A) Retention of decision making authority 

(B) Dispersal of decision making authority
(C) Creating divisions as profit centres
(D) Opening new centres or brnaches

ss. lJRcr � � -q efut�a � 

(A) mfr (B) �

Human Resou.rce Management includes 

(A) Recruiting (B) Selection
(C) Training � All of these 

56. �gRhcfi(OI �

(A) e11d-1 q;r "l11T (B) cfiz:i� r{l � cfiT ffl

(C) �cf>Tffl

Staffing is

(A) Part of organisation

(D) � � lNt

(B) Function of personnel management

(C) Function of management

(D) All of these

57. �� � � � t

(A) ffl ◄�cll "Slffr�

(C) ���

j 24/A/XII-5011-(32/<$0) I Page 17 / 32 
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EJ 
Method of training is not 

(A) Job rotation training (B) 

(C) Apprenticeship training (D)

on-the-job training

None of these

l 

58. f:t�fmcti{Uf cfll Bklrtl �

(A) 

(C) 

� it 
39 cfi{Oi, B

The staffing is related with
• (A) Persons

(B) 

(D) 

-qrc;t � 

-q�ft.n � 

(B) Goods

(C) Tools (D) Machines

59. f.;iqR-,fuia -q ��-mm� cflt qt5(q -;,tf �?

(A) 3i:-Gi(-1 -q � (B) � cf;1 -� 344111

(C) �3TI -q � (D) � lt'l¼l-3-TI -q q;lft

Which of the following is not important in training? 

(A) Increase in productiQn (B) Proper utilisation of reso�
(C) Increase in accidents (D) Decrease in labour problcll\g

60. �1$Jlt

(A) 3ilq�lic:fi

(C) � � ititi�

Supervision is

� Necessary

(B) �4F3'��ch

(D) ����

(B) Unnecessary

(C) . Wastage of time (D) None of these

61. "51'\ilct�II� � �f(t\..rj(OI � � 3�(�1�t-q � � � � 3ilct�ltcfi

(A) �

{C) �1fei�"1 
(B) 4Hct-�

{D) si1�f<l 
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For delegation of authority to be effective, it is essential that
responsibility is accompunied with necessary

(A) Authority (8) Man-power
(C) Incentive· (D) Promotion

62. �rfiojtl(f ci;r �tj§I � � ctiUTT �

(A) �qi41itc:fi B,1a-1 (8) fsf;llk'Fh fi,,a=t

· · · · · · • • • ..... depends on the willingness of employees. 

(A). Formal organisation (8) Functional organisation

(C) Informal organisation
63. B11d-t 51§t;41 � � �

(A) 2

(C) 6

The organisational steps are 

(A) 2

(C) 6

64. c:tirfi410:41 q;J -srfu� i

(A) 3-l I cf � ll c:fi

(C) '3i�i:fl4

Employees' training is 

(A) Necessary

(C) Compulsory

65. -srfu� � �/� !;!

(A) � ifGHl ��

(C) >lfir���

(D) Divisional organisation

(B) 4

(0) 8

....(By 

(D) 8

(B) 3Hlc:f�llcf;

(0) tH��

(8) Unnecessary

(D) Wastage of money
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66. 

67. 

d{s) of training is/ are
Metho 

(A) Job rotation training (B) On-the-job training

(C) Apprenticeship training� AU of these

f4�c:f>(lll 'CR � � lTm � °t

{A) � c€i ii\eth�\ (B) &i\q�4cfi

(C) fclf;p.fl-iH (D) � � � �

Money spent on staffing is

{A) Wastage of money 

$Y Investment 

Rlfchll %mt 

(A) ctil�cfi � "cfiT

{C) fi.{qoH � "cfiT 

Staffing is an activity of 

(B) Necessary

(D) None of these

(B) 3Nl<!_-1 � cfil

(D) �"{\14 � cfil

l 2111

'®/Personnel Department (B) Production Department 

(C) Marketing Department (D) Financial Department

68. � � 8-{:tlc:41�-1 "cfiT S(q1u1 � � t 1n �\4chl ........... €\�t&i�-1 � 

69. 

3q�111 cnvn 'tjt�C!.I 

(A) � � J.t-1(q"C\{ (cf, (B) �q•i.U�cfi

(C) 41\Tscfi (D) ����

If you want to keep a proof of your communication, you should use 
............... communication. 

(A) Informal (B)_ Formal 

(C) Verbal (D) None of these

� -q �-m ei:s\qot S1fsh4t c6T � � t ?

(A) �ch\�11 (B) �C�qot

(C) q\t4q (D) � g,Hcfid�

\ 24/�/Xll-501 l-t32/40l \ 
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70. 

I 211 I 
Which of the following is not an element of communication
process? 
(A) Decoding ✓ Communication
(C) Channel (D) Receiver
�mt.RT� f.ltmur tfiT 31Ttm � �,f8� 

(A) BlliJ�ct, (B) cqfffi11ct
(D) �ll�

: Motivation media should be determined on the basis of 

(A) Group (B) Personal

(C) Job (D) All of these
71. ct,llhftH � � 3ifq�.Qc:h � � ?

72. 

(A) �����

(B) �sf,<f �c);�

(C) �Act,�� S'k1H � �

(D) q�ft➔ � � � �

Why is working capital necessary ? 

(A) To buy land

(B) To buy building
�To make payment for routine expenses

· (D) To buy machine

fcrdl4 A4l-it..f c6l s,fi,41 �

(A) f<hfl4 3(�41 cf;T f.ttITTl>T (B) 

(C) �Jill � cf;T f.ttITTl>T (D)

�=cflll .fl Rf 41 � � 

���-

The process of financial planning is 

(A) Determination of financial objectives

(B) Determination of financial policies

(C) Determination of financial procedures

� All of these 
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73. fq1_��lf "3uf �cfilB cfiUlf.P-11 � cfiW �

(A) � � �

(B) ���
(C) � tr{ Ricti,e cn1 � � � mm t

(D). ���� 
Paternalistic high growth companies like to

(A) Pay lower dividends

(B) Pay higher dividends

(C) Dividends are not affected by growth consideration

(D) None of these
74. Rltlllf � � � cf;flf �

(A) Rnfllf f:t41-ii.:t

(C) � "RN cf>T 3ilc=il.:t
Main function(s) of financial management is/ are

(A) Financial planning, (B) Procurement of funds

(C) Allocation of net profits (D) All of these

75. �tfllf � c#il' q(Ul(l'H1 � q:;r ��Tim m

(A) 1910 - 1920 � $R (B) 1920 - 1930 � �

(C) 1930 - 1940 � � (D) 1940 - 1950 � �
Traditional approach of financial management was discarded 
during 

(A) 1910 - 1920 (B) . 1920 - 1930
'19-- 1930 - 1940 (D) 1940 - 1950

76. ��<R-t 14ia-ll cfiP.tf:t41 � 3Timfto � ?

(A) 30 (B) 50

(C) 75 (D) 100
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77. 

78. 

Scnscx is dependent on how many companies?

� 30 (13) 50

(C) 75 (D) 100

m ciqq� � �{-t� � � ? 

(A) �� (8) �Jl4�

(C) {-.iflcfi(Of (D) fcnft 4 A 41 ;jj ..J

Financing decision is related to 

(A) Capital structure (8) Financial structure

(C) Capitalisation (D) Financial planning

qtf 2004 -q \Tim -q � �qfu141 <la � � 

(A) 20 (B) 21

(C) 23 (D) 24

The number of stock exchanges in 2004 was 

(A) 20

�23 

(B) 21

. (D) 24 

79. a<c1a1 "cf,T f;iqfur � i

(A) fi,,faa af 1'5f ll

(C) � aff;jjf(

.............. creates liquidity. 

(A) Organised market

(C) Primary market

80. "..{cft;r f.l,f�a � -ij oqq�I( � �

(A) TiluJ illsJ11(

(8) � ill'1fl(

(B) 3H111faa ilFill(

(D) $JT cs0'5fl(

(8) Unorganised market

(0) Secondary market

(C) li)ur illsJ1H � � ill'1f I( �

(D) ����

I 211 J 
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dealt in New issued shares arc 

(A) 

(B) 

(C) 

Secondary market

Primary market 
k t . ary mar e s

Both Secondary and prun 

(D) None of these
a1. �:Jl4 � � � � � n 

(A) � q;) >fTH cf>8T (B) � cf;T 3q<(tf �

� ·(D) ����
(C) (A) � (B) (;_l.'1;

. 1 anagement 1s
Modern approach of financia m 

(A) 
, 

(B) Utilisation of funds
Procurement of funas 

None of these 
(C) Both (A) and (B) (D) 

82. � R.:Jt4 1'441-ii..f cf;T �:flqai� �

(A) B(�ol (B) 

·(C) fqa�f4ai (D) 

Characteristics of sound finahcial planning are

(A) Simplicity (B) Liquidity

(C) Economicality (D) All of these

83. fflq -ij � � � f4qofl <f;T � sft �

(A) � -ij (B) . � -ij

(D) -iil4H -ij

The foremost stock exchange in the world was established in 
(A) Delhi (B} London 

'-LCY America 

84. mfi cf;T � q:,14f�4 � i

(A) �-ij

(C) �-ij

(D) Japan

(B) ct,1�4,ldl q

(D) ���
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Regional office of SEBI is situated in
(A) Delhi . (B) Kolkata 
(C) Chennai � /\11 of these 

�qdl � cfil cfit.q.ft if ........... � mID � I 
(A) �Chl (B) �clil
(C) �Chl (D) ����

Equity shareholders get the rights in the company for 

�ote (B) Purchase

, (C) Sell . (D) None of these 

� �� � � � s.3TT 
(A) 2018 (B) 2019

(C) 2020 (D) � � � �

When did Consumer Protection Act come into effect ?

(A) 2018
(C) 2020

(8) 2019

�one of these 

87. �� �I�� t

(A) � ii -.it�«ll-ift =f cnt

(C) � � m ft-.it1Jal

(8) i@ � � Rt�1q-t � �

(D) ���

R�sponsibilities.of consumer are 

(A) Do not make hurry in buying

(B) Beware of false and misleading advertisement

(C) Awareness towards rights

(D) All of these

88. 3"£Jft:ldl f€tcfitfl cfil4st>l4 sre:R � t

(A) �0-.if 111<l

(C) ��l-ft;ft

(8) 0-.if 1 IR

(D) \.11:!li:fl<

I 211 l 
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89. 

. e provides Entrepreneunal development programm 

(A) Unemployment (B) Employment

(C) Dishonesty (D) Corruption

� � � � :ti4l(tl -ifTffi t ? 

(A) 15 'tTRf (B) 15�

(C) 15� (D) 15 ;,if-1c4tt

When is Consumer Right Day celebrated? 

�5th March (B) 15th April

(C) 15th July (D) 15th January

90. � "6\� � � 3i�1fa rc.&I<!_ �q((UI ((Jif{14j �

(A) � cfiJ.fl:u4 (B) � chifho4

(C) mT� (D) ���

l 217 \

Redressal Agencies under the Consumer Protection Act are 

(A) National commission (B) State commission

(C) District forum '-1!)VAn of these 

91. t.rtT q;41� cf;l � �3ll �

-92.

(A) -iflq1-1 -q (B) �-ij

Henry Fayal was born in 

(A) Japan

(C) Germany (D) America

��l�cfi � -ij ��cf>l � � � tfUit-ij � t·

(A) � (B) cf>lfi .

(C) 

' 

(D) �-

( 24 / A/XII-SO 11-(32/ 

. ) 

Page 26 / 32 

Previous Pathshala



93. 

ln scientific management working hours of workers arc
(A) Increased (B) Dccrcc1scd
(C) No effect (D) Average

�. 3ffi:. � � �jel\ fq41_,H � Wffi �

(A) 8 (B) 6
(C) 4 (D) 2
Acco.rding to G. R. Terry, types of Planning are
(A) 8 (B) 6

.· (C) 4 (D) 2
94. f4��f.f�cfil��t

(A) c4i&�iftcfi (B) �4,Rlcf>

(C) 3RR-c4fffi11a (D) l-icfil{lc=qq:;
Direction is not the ............ aspect of management. 

(A) Practical (B) Theoretical

(C) Ir:iter-personal {D) Positive 

95. elid€1. (1��1c41�4 -q tl$IIC4 cf)l � mot t

(A) � � 3m: (B) . � � 3m:

_(C) (-tlidH � 'Q'{ (D) � � �

.In horizontal communication flow of suggestion is 

· (A) Upward 

� paralle I 

96. f.l��H i

(A) l-i&�i<fl

(C) f.l<�< fsf;1tr

Direction is 

(A) Pervasive

(B) Downward 

(D) All of these 

(B) �641�� �

(D) �-atNT

(B) Performance-oriented

(C) Continuous activity � All of these

I 217 I
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97. 

98. 

99. 

� '.> � 
fcf;m "JITTTI t

� cti4-i4tf't41 <n1 -q {C1I 0 

(B) U-.:{kll,l;

;fiU I k4 cfi(A) ¢-a��
(C) �

(D) 

ewarded
Motivated employees arf: r 

Positive
(B) 

(A) Negative None of these
(C) (D) Intrinsic
�4�01 � � •••••••••P• � t, 

(A) � (B) 31"fr<lq

(D) �J\4(C) �. ction of the management.
Control 1s the ................ fun 
(A) First �ast

(C) Third (D) Second

�4.-.:401 � ffl t 

(A) 3iPfql4 (B) 3114�4c6

(C) �ct, (D) ����

Control is a managerial function
(A) Compulsory (B) Necessary
(C) Optional (D) None of these

100. Plll.:stOI &I jq�4c6 t

(A) � Jq5',q � �

(B) qt4q &llcfil< � Jqsf;q � �

(C) � �lifil( q@ Jqsb'4 � �

(D) ���

Controlling is necessary
(A) for small enterprise
(B) for medium sized. enterprise
{C) Jor large sized enterprise
{I).}/ all of these

I �17 \ 
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I 217 I -OIO$ � cf / SECTION - B

� dfHlq 'Wf / Sh rt A 0 nswer Type Questions
'J1R H&II 1 'R' .30 ffcli' ?ffJ 3ri-/9q f I p,q ff Fc,;;efi' l S 'I1RT ci, � �, liR1cl> cli'
� 23r<E�t, 

15 X 2 = 30 

Question Nos. 1 to 30 are Short Answer Type Answer 15 . . . • any questions. 
Each question cames 2 marks. 15 x 2 = 30 

1. 

2. 

3. 

What is meant by labelling ? 
�sf>4 � cfiT cflTT dlc<f4 t ? 

What is meant by sales promotion? 
� � � 81i$11�(£1 

Explain consumer product. 
� � \ill-ill{ � � � t ?

What is the meaning of capital market? 
5. fcrJl4 �I-ill<� fcifi� � � � qUR 4il�Q,l

Describe any four functions of financial market.
· 6. � � ��k'icfi cfiTd ildl$C!_I

Mention the protective functions of SEBI.

y. <J>4lc.w1 � � cf> �4ia ffif&co

Write Fayol's principles of management.
8. ��cflq:;(01 qif 3ltt �'4$il�Q,I

Explain the meaning of globalization.
,.._y7 �"#a"q,T�3lttt? 

What do you mean by economic policy ?
10. � W:� 3fft.lf?f�q � � TfR �:fit'tal� ildl�l{I

State any four features of Consumer Protection Act.

. 
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1 1. ���-.ii-ii <lm f4ql{OI � <F1T ,g? 
d sal forum?

What is ECO Mark Scheme and Re res 

12. "3�1(1 �iq1;.q ;:,,)fulq 'Jo@ �I" {-tq$ll��I

''Entrepreneur takes common risks." Explain .

13. 41fulcti � �fula l-1��01 -q .3MR "�l"{I

D. . . . communication. 
1st1ngu1sh between oral and written

14. �41�<:ti � � � 3<:Ji5(v1 �I

State two examples of non-monetary incentive�.

15. � � � f';i�3401 cnT � islol�C!_I 

State the importance of controlling in an organisation.

� <h.{\ch(OI � fttch.{\,:t;(OJ � 3'Rl( isldl�Q_I 
Distinguish betw�en Centralisation and Decentralisation.

17. � 31tt��� 3r.Wt? 

What is the difference between Recruitment and Selection?

18. 'Slftrarar � fch� � � q1T � 4ilRitQ, I

State any four benefits of training.
19. � � 51fsh�1 cf>7' � 4i'lRitQ,1

Explain the process of motivation.
� f4��H � f<fi::tf � �f!qdl3TI q;) GCdl�l(I 

Enumerate any two features of directing. 

». ffl� � � Giol�Q,I

State the functions of a supervisor. 

� •� � fsf;m i1• �a)-q -q (-fq$ll�l(I 

'Management is an activity.' Explain in brief. 

23. (-fq..qlt � �f!qdl� (-fq$ll�l(I

Explain the characteristics of co-ordination.

2 

2 

2 
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il�1f.\rq; � � � 
How do . . 'lTl

-rn-..

1�� -q�cit.f � 3mrr � ?
f 2 l 7 j

2 
es scientificchange·?

management bring about complete mental 

25. 

26. 

� � � � lfr.r ��qctl� 1Jict/�� I
�tate any three ... 

� 
charactenst1cs of fixed capital. 

. � ct;T. �lf$H$� I

Exp! 
. a1n retained profit.

2 

2 

���i? 2 

What is capital gearing ? 

. � }ll(j\Jf.J cflIT t �

What is planning ?
29. � f44'-if➔ cf;T 3TTtITT � � ?

What is the criterion of effective plann.ing ?

� � � �110<1 if�-� f4�1!fdl� m;fl =q1�C; ?

What should be the characteristics of an ideal organisation ?

cftd' 3ftflc:i � / Long Answer Type Questions

2 

2 

2 

� �t..c41 3.1 � 38 � a+tilq ·� t 1 � � fcti�1 4 � * � t' 3.fr4cfi <l>

� 5 � f'1e:,fflrt t° I 4 X 5 = 20

Question Nos. 31 to 38 are Long Answer Type. Answer any 4 questions.

Each question carries S marks. 4 x 5 == 20

31. � m:� � � q:;r qaf;i- 4i) � C; I 5 

Discuss the importance of consumer protection.

32. �401-f >l'if:tl -ij -��14-1' � �cf,I f/Ji$il�l;I

Explain the role of 'Advertising' in marketing management.

33. � �qoft <fflT t ? � � <fil ciUR cfl�t;I

What is stock exchange ? Discuss its functions.

5 
• 

5 
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34. 

35. 

36. 

37. 

38. 

� � 3fu cfil4��e1 � if � �I · I 
d orking capita . 

Differentiate between fixed capital an w 

iit'1iilti f.'tlj�ot cflT � � � ? 
What is meant by budgetary control ?

�'Q � � � ijjdl$l;I 

s 

s 

State various functions of management .
f4 �f© 1 

'........................ � � tjf{ C1 l{ 
Sl�ll�·Ft � � � �ttll �I" "$B � . . , S 

,. . . t " Write your views on tL• 
Adm1n1stration is a part of managcmen · 411&

statement. 
ol41c:l�lfticf> c:fldlc:f{OI � � ? � fa:(lt4ITT3n � � c€if'stl{I S 

W 
. . 1 · · ts characteristics. 

hat 1s Business Environment ? Exp ain 1 
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